Biochemistry 4th Quizz

1-Deficiency of hydroxymethylbilane synthase cause:

Acute intermittent porpheria 

Porpheria cutania tarda

Congenital erythropoitic porpheria

Erythropoitic porpheria

2-Serotonin is synthesized from 

Tyrosin

Tryptophan

phenylalanine

3-High energy stand in the muscle in the form of:

Creatine phosphate.

ATP

Creatinine

Glycogen

4-Rate limiting step in catecholamine synthesis:

Tyrosine hydroxylase

Tyrosine kinase

Dopa decarboxylase

Dopamine ( hydroxylase

5-Glucagon work through :

cAMP

cGMP

DAG

Intercellular receptor

6-Which one of the following AA is ketogenis & glucogenic:

Leucin

Lysine

Isoleucin

Cystiene

Glycin

7-Alkaptoneuria is characterized by all of the following EXCEPT:

Not life threatening

Its symptoms appear late in adult life

The main compliance is large joint arthritis.

Caused by abnormalities in tryptophan catabolism.

Caused by deficiencyof hemegestic acid oxidase.

8-Serine is non essential because it is synthesized by which one of the following comounds:

3 phosphoglycerate

 9-Insulin is MOST inhibited by :

Glucose
Epinephrine

secretin

10-the best treatment of unconscious patient has hypoglycemia is:

glucose orally

intramuscular glucagon

insulin

T or F

1-Tryptophan is essential AA ( T)

2-Histamine is formed from histadine by decarboxylation (T)

3-VMA is the end product of catabolism of serotonin (F)

4-Insulin is an anabolic hormone(T)

5-Glucagon is a poly peptide formed of 51 AA (F)

